¥ CARRYBOY CB-795M-CMND

The Name of Quality and Design MITSUBISHI TRITON D/CAB
INSTALLATION MANUAL 1/4 ROLL BAR SPORT LID

SPORT LID 1 set Plastic packaging 1 pc. Sponge rubber edge 1 roll. Kwick klamp 1 set. STATTENTION 5000 KM. 1 pc. Battery AAA 4 pes.
dAsBUNaEIE 1 26 qouTIyRRaas 1 Tu pawasAnTey 1 37U ardnuaia 1 90 thedudiou 1 uwu 01U AAA 4 nau
- C-130004 C-020145 C-120522-01 V-140163 C-240179
a 2] &l
D @
Bolt M8x50 GREEN 4 pcs. Washer M8 zing black 4 pcs. Bolt M6x25 zing black 8 pcs. Washer M6 zing black 8 pcs. | Spring washer zing black 8 pes. Installation manual 1 pc.
Tuan M8xs0 &ide 4 wuduls M8 duasn 4 i Tuan M6x25 Fuash 8 wnuduls M6e deasn 8 i uruaU3e M6 d9asn 8 i N3zABIBNITARAY 1 uwy
C-030333 C-030616 C-030613 C-030608 C-030610 (C-132687-08
sk
% —{ [SILICONE] | L1CARRYBOY >3 %
Check list 1 pc. Tapping screw SUS.JP8-1/2 2 pcs. Black Silicone 1 pc. Logo CARRYBOY 1 pc. Eleectric_klamp lock 2 pes. Cable tie 5.5 15 pcs.,
Chack list JAAAGY 1 unw snanAeIyaey SUS.JPS-1/2 2 i Balauds 1 nasn 1helaln CARRYBOY 1 8u unandfenasaln 2 du wdalnafian 55 15
CL-280031-17/18 C-070024 C-110535C C-160259 C-130046
Water proof R/L 1 pair. Weather strip 2 pcs. | Spring washer M8 Zirv\grblack 4 pes,|
Fafnmenszus R/L 1 g nszgngwInaWesln 2 1au umuayie M8 eadn 4 6
\_ CB-791-CMND-01 C-020494-05 C-030617 )

INSTALLATION TOOLS / \a3peflalunisings

=i =m———
Hole saw & 40 mm. Drill @ 3.5 mm. Wrench No.12,13 Cutter,
/; N apntazlaaTen @ 40 W, ABNEINU F 3.5 N, Uszualuns 12,13 nLmas
)L e H g— H —B
SCI’err‘ILVGI electric CDa'q saw Screw driver Measuring tape Caulking ) Scissors
an3inanes iwoplwvh lapaeviuan ARLLNAS Judalau n33ln3 Y,

C-132687-08
20/02/61
REV : 02



WY CARRYBOY CB-795M-CMND

The Name of Quality and Design MITSUBISHI TRITON D/CAB
INSTALLATION MANUAL 2/4 ROLL BAR SPORT LID

1020 mm. . 290 mm. I

30 mm. 30 mm.
E 65 mm. 65 mm.,

R/ L —Hole saw @ 4€5 mm.
. ApNLANElaaTe @ 45
YAIN/H8 \\ l ‘_J

If install with linner, drill 2 connection holes with hole saw & 45 mm. See the drawing for
appropriate dimension to drill.
N3l ﬁ‘laumasnglaumm 2 3mpfiuaie hole saw O 45 mm. ¢vgl

A

Clean the edge of truck bed. 9 Install rubber truck edge on the truck bed left right and front.
YMANMNTEDIAUTIUAILNILASDDUNT LU ANUWNIDNVDUNTLULATUTE ANUILALATURIUN

Place roll bar sport lid on the truck bed and adjust alignment between left and right. @
\_/,

BNAIATAUNTEY SINDUINNISUS FATLULAINNIN UW’)TWWBaﬁﬁJgﬂﬂ‘EtUS K

4 PERSONS
4 AU

Install kwick klamp for 4 positions.
AnsaadnuAdNY 4 Funue

Washer M6
= “umududs M6

Spring washer M6
unusU3e M6,
<—Bolt M6 /Tuan M6

) .
~—Bolt M8 / luan M8
Spring washer M8
wuaU3e M8

Washer M8 / uviududz M8 Ryl

REV : Oy




WV CARRYBOY

The Name of Quality and Design
INSTALLATION MANUAL 3/4

-

CB-795M-CMND
MITSUBISHI TRITON D/CAB

ROLL BAR SPORT LID
~

Glue the silicone to protect water leaking left-right.
Fadhlausauraunszusiv H8-221

Adjust a latch R/L for matching with
the rotary lock on the rear door.

TuapuNMIUTULANLUUTUIRRDANRDUNINE

Label drops Logo CARRYBOQY follow the diagram.
Sunsunstinihelaln CARRYBOY

N

iy

— _ETAIL 10
- -

/_';'/"'Q """""" Y\%UFTT ‘

=N

S\
cey

Rear combination lamp (LH)
gaselwaund

Connect the wiring kit to
the truck brake light wiring.

Wonmasslv gaiusn

WIRING HARNESS COLOR / szuuianslw

VEHICLE/jus0

BRAKE LIGHT/mplWiusn

MITSUBISHI TRITON

GREEN-YELLOW / fisn-findne

C-132687-08
20/02/61
REV : 02



WY CARRYBOY CB-795M-CMND

The Name of Quality and Design MITSUBISHI TRITON D/CAB
INSTALLATION MANUAL 4/4 ROLL BAR SPORT LID

JE—

INSTALLATION CB-791-CMND-01 ——

n1susznay CB-791-CMND-01

e |
\ |

7 =————————<= 1§ —{n\

— —— —

A MTSUBISHI MOTORS | —/ " U

A

) SILICONE c’:’.’,

Maintenance / Warning
NIQUATIH/ANADU

- Check and retighten any Bolt & Nut every 5,000 KM. for firmly fit and safety purpose.
- Check and refill Grease at Rolling Axle for longer usage.

- N 5000 nw. AIATIREBLIADR luan-ang-an ynasiioauudeusauaslasadbannislonu
C-132687-08

- TwaaiiimaedeulmuazyaiennsslainfunasiuiieBnoignislosnusesgunaon 20/02/61



	CB-795-CMND REV02 1
	CB-795-CMND REV02 2
	CB-795-CMND REV02 3
	CB-795-CMND REV02 4.pdf

